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2A: 3H
M )| 2HELE 2el
SR HE o 2el

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
gdHse =48 10,900 10,900 0
201 gBt24d| 6,000 6,000 0
01 AP 22| H| 6,000 6,000 0
OMEA SN 2= M
600,000& x10= 6,000
202 044 4,900 4,900 0
01 2L I 4,900 4,900 0
OstFEN g2= 4,900
MOTIoh 2HZ20 XS( 20,229 20,043 186
J| 18,206
& 1,011
Al 1,012
301 LBt A= 20,229 20,043 186
J| 18,206
o=t 1,011
Al 1,012
11 JIEtE A= 20,229 20,043 186
O&ddIal #H30 X 20,229
QAME L 1,352,370 x12& 16,229
J| 14,606
& 811
Al 812
REZ N 4,000
J| 3,600
o 200
Al 200
Sd0lE Ml N 9,000 549,600 A 540,600
201 et 9,000 12,000 A 3,000
01 AP 2t 2] H| 6,000 9,000 A 3,000
OZdI0IE HMel ANMZAF XX X
600,000 x10& 6,000
02 B232%H| 3,000 3,000 0
OZd0lE Mel XAMZAF XX Sl
300,000 x10& 3,000
Sdl0IE HMel XN 537,600 0 537,600
= 268,800
Al 268,800
401 AlEHIZL 2 0HY| 537,600 0 537,600
= 268,800
Al 268,800
01 Al& H| 534,214 0 534,214
OZd0lE HMelAad 537,600, 000& *99.37% 534,214
= 268,800
Al 265,414




2N

o

ot

|
M JIFHIIE 2l
R Z2E O] 22l (e H)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 Al&E 201 Y| 3,386 0 3,386
OSY0lE HelAg 3,386
S XESYO0E HelAtg 80,000 50,000 30,000
401 AlEHIZL 2 0HY| 80,000 50,000 30,000
01 Al& H| 80,000 50,000 30,000
OYXNEUO0IE HMel (A=) 10,0002 %8, 000 80,000
SHARA BHSOIA H2AHE 160,800 51,000 109,800
= 80,400
o=} 24,120
Al 56,280
301 et A= 160,800 51,000 109,800
= 80,400
= 24,120
Al 56,280
11 JIEtE2 A2 160,800 51,000 109,800
OSHHARA HSIHA HZALE
1,608, 000& »100CH 160,800
= 80,400
= 24,120
Al 56,280
MO XS X 20 X (212H) 360,000 180,000 180,000
= 240,000
o= 36,000
Al 84,000
402 SI2FXHE0| & 360,000 180,000 180,000
= 240,000
= 36,000
Al 84,000
02 QIZEXIE A E X (0| XM THH) 360,000 180,000 180,000
O&EIX=A 20 K& 18,000,000 »20CH 360,000
= 240,000
& 36,000
Al 84,000
oleaEltssdd 29 3,300 0 3,300
201 Bt 3,300 0 3,300
02 E2=2=24%H| 3,300 0 3,300
OIIYE s =AM HZ(HA) A
3,300,000*13] 3,300
&HII0IEX ES AL 52,500 0 52,500
= 12,500
Al 40,000
405 XHA&HF S HI 52,500 0 52,500
= 12,500
Al 40,000
01 XA 2 ZFF S H| 52,500 0 52,500
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H
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= N
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6,250
13,750
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= MW

25,000
12,500
3,750
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e
i
H
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o

= MW
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JIEE
O0l&lol

=
SSHAE LPGRH dE X & A

5,000,000 «5CH
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12,500
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Al
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2,100

,666

A 666

H

Al

3,000
3,000

900
2,100

,666

A 666

206

= M

8,000

2,400
5,600

,000

01

HZ I

OUEI ANt HE

tm
!
0r0
Oit

0

i

8,000
8,000

,000




2M: 33
M JIFHIIE 2l
Chel: MEj= A 9 EE)
- _ _ RE]
S =B .G (3 H) - Al m gﬁ‘&i HR=2
= 2,400
Al 5,600
301 Bt A= 16,000 15,000 1,000
== 4,800
Al 11,200
11 JIEtE A= 16,000 15,000 1,000
OMENH DM E 2=0H 16,000
= 4,800
Al 11,200
KNAMEfHEAANG (A =S =2 100,000 100,000 0
N 50,000
Al 50,000
101 @121 | 5,000 5,000 0
N 2,500
Al 2,500
04 JIZtHIZ22XNSE S 5,000 5,000 0
oacs =3 22 o 5,000
Xl 2,500
Al 2,500
206 M = dl 5,000 10,000 A5,000
Xl 2,500
Al 2,500
01 =4l 5,000 10,000 A5,000
OANEY =2SE 7 5,000
N 2,500
Al 2,500
307 gizto| & 27,000 25,000 2,000
Xl 13,500
Al 13,500
02 QIZ2IA AAIE E X 27,000 25,000 2,000
OdtdE =& 22| sHale|
o= 27,000
N 13,500
Al 13,500
401 AlEHIZL £ 0HY| 63,000 60,000 3,000
N 31,500
Al 31,500
01 Al& H| 62,433 59,460 2,973
oA =AY 63,000,000& *x99. 1% 62,433
N 31,500
Al 30,933
03 Al 201 Y| 567 540 27
Oodca SAAY 63,000,000 *0.9% 567
HeAe OtaZ MEHSSHE 50,000 24,000 26,000
& 15,000
Al 35,000




SN B
M J=EsE 22
Chel: MEj= AN (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
101 14 Hl 10,000 4,000 6,000
< 3,000
Al 7,000
04 JIZHHZ22XREES 10,000 4,000 6,000
Ooulgdel otz 2el /Al 10,000
< 3,000
Al 7,000
201 Let24E] 20,000 10,000 10,000
< 6,000
Al 14,000
01 At 22l 10,000 10,000 0
Ontald X 2el & e =4 5,000
< 1,500
Al 3,500
ObttedZ 22 M=% 2,000
< 600
Al 1,400
Ol 2 MHE3AHE 3,000
< 900
Al 2,100
03 A2 Z Hl 10,000 0 10,000
OO0t 2 DI AL i = 10,000
< 3,000
Al 7,000
206 M= Hl 20,000 10,000 10,000
< 6,000
Al 14,000
01 MHZ 8l 20,000 10,000 10,000
Onlgfdel Ot FHE8 78 20,000
< 6,000
Al 14,000
AHEH = AN 2E 2 KR 1,300,000 800,000 500,000
Xl 650,000
= 325,000
Al 325,000
401 AIEHI L 2CHEI 1,300,000 795,000 505,000
X 650,000
= 325,000
Al 325,000
01 A& HI 1,295,320 789,992 505,328
O Ga Mo[i2 MEIRE WE ZMAY
1,300,000, 000& *99.64% 1,295,320
X 650,000
< 325,000
Al 320,320
03 Al 2 THHI 4,680 5,008 A 328




SN B
M J=EsE 22
CHol: MEN= R AR CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O dd Ben dgze 9 2 8AY
1,300,000,000& *0.36% 4,680
HEHGHE S 3 ALY 3,000,000 1,000,000 2,000,000
X 1,500,000
Al 1,500,000
401 Al HI K 201 I 3,000,000 1,000,000 2,000,000
Xl 1,500,000
Al 1,500,000
01 A& HI 2,989,200 993,700 1,995,500
O=Ed(Ftd) YENotE S AL
3,000,000,000& *99.64% 2,989,200
X 1,500,000
Al 1,489,200
03 Al 2 THHI 10,800 6,300 4,500
O=Ed(Fd) YEHotE S AL
3,000,000,000& *0.36% 10,800
= A 2el 70,804 31,604 39,200
g3y ae 70,804 31,604 39,200
201 Let24d] 21,674 12,674 9,000
01 At 22/l 21,674 12,674 9,000
OBHRY SHIH BCAN 242
300,000& 33 900
OUIIHEAIE & Helol 532 3AM =&
Sabal=d 497 ,400& * 1074 &= 4,974
Ot a &= 1=l 180,000& 10 1,800
OO0l LHII0tS =EAMSE PAHS ZAl==2
7,000,000& »23| 14,000
202 O4dl 4,000 4,000 0
01 = LH 4 1 4,000 4,000 0
OgZXNE =& ol 4,000
206 M= Hl 4,630 14,430 A 9,800
01 MHZ 4l 4,630 14,430 A 9,800
OiEga & ofds HAE REoM+=E F
100,000& » 19+ A 100
Ox=22d YHES(ExZ §) 7¢ 4,530
E=Z(12m) 150,000 x5 750
SHMelM(18s ) 40,0003 +7S 280
REXHE 50,000 10 A 500
gaAA 500,000& =64 3,000
301 YptE A 500 500 0
MIEE43 500 500 0
Ostzgde M Ziz 100, 000& 5 500
405 XHoHF S HI 40,000 0 40,000




2M: 83
M J|sHsUe 2ol
S HHEga 2el (&)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
01 et ESFH S 40,000 0 40,000
O28 Xt Bi&EotA dICI2ItHet 2
40,000,000 =14 40,000
SSEY 29 & 493,628 108,892 384,736
SSeEY 2g 493,628 94,592 399,036
201 Let249] 13,800 13,500 300
01 At 22/l 13,800 13,500 300
OSZUA(HAEH HR, %4F S)Helx+E 10,000
OMelgt=xXelAld =ZZAtHl 10,0003 x40 400
OJelst=XelAlE A QHLHE QIfH]
4003 *50000 x 1201 & 2,400
OYM HBAE MUl (HX) 1,000
NEEEAE 500 10001 x 103 500
HOI= M 5003 «1000H »10& 500
202 Odl 4,000 4,000 0
01 = LH 4 Hi 4,000 4,000 0
OHYISXE FR=E o4l 4,000
206 M= Hl 66,828 37,092 29,736
01 MHZ 4l 66,828 37,092 29,736
Osszaa HetH +
12,000 7200 A+ 12& 10,368
OZ&s&T A=5435 ¢
10,000 7200 A+ 12& 8,640
O3 < Hedstaa HOZEZ (&, HF
g) ¢ 60,0003 974 2 *43| 23,280
Oofs ZHe ¢ 300,000& 3K E 900
OZ2=stad AZEZ(SEXZ0l, =20l
g) 7¢ 20,0003 7200 2~ +222 2,880
O35staa FAWEXE M
80,000 »720H A 5,760
OZs=Td HHEES =18 7
50, 000& 3004 15,000
207 A RO 200,000 30,000 170,000
01 A7 39l 200,000 30,000 170,000
OJ=EAEHE 7S NEEH DAl 200,000
401 Al HIZ 201 I 209,000 10,000 199,000
01 A& HI 209,000 10,000 199,000
OZ2sazd NEE= 1,000, 000 *20J4 2 20,000
O=dl& 21013 &4 uH 189,000
124 56,500,000 * 104 2 56,500
“EA= 63,500,000 =104 2 63,500
3 E0ts 69,000,000 14 & 69,000




SN B
M J=EsE 22
& J=He HEdd (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl=dst tHseA 137,600 103,600 34,000
= 67,000
< 22,000
Al 48,600
JelABE A Y 3,600 3,600 0
201 Let249] 3,600 3,600 0
01 At 22l 3,600 3,600 0
OSHAZQEN CHUHE &5
4003 =4 ,500 NI CH »22 3,600
EEAEQEN 2g 110,000 80,000 30,000
= 55,000
< 22,000
Al 33,000
301 et A3z 110,000 80,000 30,000
= 55,000
< 22,000
Al 33,000
1MIIEESS 110,000 80,000 30,000
OEAZERN It CIHEE X5
55,000,000& x23l 110,000
= 55,000
= 22,000
Al 33,000
HASR2 24ItA M2 AL 24,000 20,000 4,000
= 12,000
Al 12,000
201 Let24d] 8,000 8,000 0
= 4,000
Al 4,000
01 At 2teltl 5,000 5,000 0
O=24aItA JHALEHE 25 HME Z ALK
el 1,000,000& 58 5,000
= 2,500
Al 2,500
03 &AL S HI 3,000 3,000 0
OMEtA MEAMA HAFA 500,000 *63] 3,000
= 1,500
Al 1,500
301 et d = 16,000 12,000 4,000
= 8,000
Al 8,000
MIIEEd=S 16,000 12,000 4,000
O2&JtA AHALEHE &FHl X3
40,0003 400 All CH 16,000
= 8,000
Al 8,000




SN 23D
HH: Clean & =4
el BAME L (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Clean & =4 6,378,917 5,987,175 391,742
= 1,553,170
< 31,670
Al 4,794,077
A E 2 935,420 836, 100 99,320
= 59,000
< 20,000
Al 856,420
Fadiyael 800,420 699, 100 101,320
101 @124l 30,120 0 30,120
04 JIZHHZ2XNSE+ 30,120 0 30,120
OFgEZXNZ0l 2¢12Y 60,2402 +502 +10H 30,120
201 ¢et24] 376,200 375,000 1,200
01 At 2t 2l 6,200 5,000 1,200
O e8| 5,000
OMgDI=& &1 R3] 100,000& =122 1,200
02 =224l 370,000 370,000 0
Oxg |5l 10,000,000& »29CH 290,000
OXg =&l 80,000
202 O4dl 24,400 24,400 0
01 = LH 4 Hi 24,400 24,400 0
OFAYE PYRF=ZA Kl 24,400
206 M= Hl 156,700 142,500 14,200
01 M= 4l 156,700 142,500 14,200
Ogdilstd #34AE4 2 4,000,000 42| 16,000
oMl RnA=E ¢ 80& *1,300,0000H 104,000
OMYIIBEMESTE XA (LPselIl AlIR)
4,000 «100H x280& 11,200
OLHEAXE A2F 72 10,000,000 14 10,000
OMYIIZEENESE tHies22g 2
775,000& 204 15,500
405 THabF S| 213,000 156,000 57,000
01 AL EFHSHI 213,000 156,000 57,000
OMEES =AHIE 120,000, 0002 = 1CH 120,000
ONsHEY S28A =X 2
93,000,000 = 1CH 93,000
MADIZZR RMAK S £ (2X) 10,000 10,000 0
< 2,000
Al 8,000
201 £B-2d| 10,000 10,000 0
< 2,000
Al 8,000




2M: 83
HH: Clean & =4
Chel: FAdF et (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 10,000 10,000 0
oXgJl Meldlg XN & FA28F # 10,000
= 2,000
Al 8,000
St&EGHT MHD HSAIE (GHEM D] F3HALY) 84,000 86,000 A 2,000
= 59,000
Al 25,000
101 @124l 81,600 83,400 A 1,800
= 57,310
Al 24,290
4 JI2ZtHZ22HEE = 81,600 83,400 A 1,800
O ot&Mdl FatAtg elAdd| 81,600
= 57,310
Al 24,290
201 ¢er24l 400 400 0
= 280
Al 120
01 At 22/l 400 400 0
OFadd SE7YHIR, &3, 22% S) 400
= 280
Al 120
202 o4dl 2,000 2,200 A 200
= 1,410
Al 590
01 = LH o4 1l 2,000 2,200 A 200
Oodtd Mg J| HatArg 048] 2,000
= 1,410
Al 590
HESMN LA 5,000 5,000 0
201 Let24d] 5,000 5,000 0
01 At 2teltl 5,000 5,000 0
OM=ZH LUAIY BATD 2o (HY, B
g) 3,240
OH=EM LAY ot 2tE &
880,000 *2H A~ 1,760
HEZ StRAH I HESML(EX) 36,000 36,000 0
< 18,000
Al 18,000
308 XXIEHH SOl A 36,000 36,000 0
< 18,000
Al 18,000
07 IXISHH2LRSE S 36,000 36,000 0
Od&lZ at2A4eD oA 36,000
< 18,000
Al 18,000




2M: 33
M Clean & =4
e HIIS 2 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HOI2 2% 153,000 1,760,200 A 1,607,200
= 14,170
& 11,670
Al 127,160
MEEE22LH/NECS 30,300 24,300 6,000
206 M 2 dl 30,300 24,300 6,000
01 =4l 30,300 24,300 6,000
onsess =1 soyy ¢ 15,000 *8000H 12,000
onMgEas =H 1Y 4,000& x1,0000H 4,000
OHAAEX DEAIYE MYDIs& 2
280& *10,0000H 2,800
OHAMKX £=HE 30,000 5074 1,500
OHEZS =18 (H=8) 7
24,000 *50 4 1,200
OH2®s =HE 2 240,000 200K 4,800
OoMzE2el4eNE 200,000 x20H 4,000
SZHHIE =HEANZ 111,700 124,900 A 13,200
= 11,170
= 11,170
Al 89,360
301 et A= 111,700 124,900 N 13,200
= 11,170
& 11,170
Al 89,360
11 JIEtE A2 111,700 124,900 A 13,200
OsZHHlY =242 1,117,000kg*100& 111,700
= 11,170
=} 11,170
Al 89,360
SIEX-S0| T WA (EBX) 1,000 1,000 0
& 500
Al 500
206 M = dl 1,000 1,000 0
& 500
Al 500
01 X2 H| 1,000 1,000 0
OZ&0|™ et X 2 500& %2, 0004 1,000
== 500
Al 500
=sdotdE &3 K& 10,000 60,000 A 50,000
= 3,000
Al 7,000
401 Al HI L 204 HI 10,000 60,000 A 50,000
= 3,000
Al 7,000




2M: 83
HH: Clean & =4
S HIIE T (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A& HI 10,000 60,000 250,000
Oo=sdotd &= XA 5,000,000& *2J4 & 10,000
= 3,000
Al 7,000
SAESF HIIE2 22 541,277 933,218 A 391,941
SAEF HII2 22 5,100 241,050 A 235,950
201 LBt 5,100 3,900 1,200
01 At 22l 5,100 3,900 1,200
OsSAMEMYI EEE HE
150& *13,0000H1 23| 3,900
OSAEF HII=S MelAlE RelaH
100,000& = 12& 1,200
SAESFHIIS XM2AE =HO0tS KNI AN 400,000 400,000 0
402 BIZHXHE 01 A 400,000 0 400,000
01 2I2E 2 A B (KM ) 400,000 0 400,000
OSASRHIIZS MelAlE =EHOS NBAMY
200,000,000& *2H 2~ 400,000
SAESF HIIS XM2AMNE 2F 2l 136,177 292,168 A 155,991
101 @14 Hl 82,271 68,268 14,003
04 JIZHHZ2XNHEE S 82,271 68,268 14,003
OSAERHIIE MelAd 29 =2 82,271
Ry 102,630& »2F x246 L 50,494
FEE 102,630 »2H 52 10,674
s22f+E 102,630 1 .5%2% x39 12,008
4UHEE 73,585,710& x11% 8,095
AYs Y otde 7Y 500,000 x2H 1,000
201 et 26,570 206, 363 A179,793
01 At 22l 8,570 12,290 A3,720
OSZESAHI(2AF L AIZHA 2,570
OAZ2EBI(JIAH & &I&Hl) 6,000
02 =224l 18,000 194,073 A 176,073
OA& ZEHI R Xl 1,500,000& = 12& 18,000
206 T 24 27,336 17,537 9,799
01 W2l 27,336 17,537 9,799
OAFHMAHE 2AZ3HI 27,336
HIIZ2 M2IAE 2F 2l 4,749,220 2,457,657 2,291,563
= 1,480,000
Al 3,269,220
Z2ATHE S IS SEANE 2 1,121,081 0 1,121,081
101 @14 dl 385,470 0 385,470




SA SAD
& Clean &€& =4
el HOIE MoAE 29 2el (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 JIZHHZ2XREES 385,470 0 385,470
ongssg =g 360,545
=h= 60,2403 16 x246 237,105
ERY 7,5303 x4 Al 2t 1. 5% 16«52 37,590
resgdsrd 60,2403 x 16«52 50,120
CAEEE 324,814,080& *11% 35,730
OAE2gae 2y 24,925
g2 66,6303 x 13 246 16,391
ERY 8,328& #4 Al 2t 1.5+ 1 52 2,599
FesgdrE 66,6303 1H »522 3,465
JHEE R 22,454 ,070& x11% 2,470
201 YEt2 Ayl 31,721 0 31,721
01 At 2reltl 4,300 0 4,300
OHEAE FX2elbl 2,500
OHEAE HIjetd e s+
200,000 x6 & 1,200
OHEAIE 213l 100,000& 6 & 600
02 2524l 27,421 0 27,421
OHBAIE HIIR=
1,260kw+78.68& * 1502 +( 1, 260kw*78.68& * 150 15,421
20):3.7%
OHEANE =523 5,000
OHZEAE J1H AU (AEEXH)*0.2%
1,400,000,000& *0.2% 2,800
OHdEAIE ZHl RXHI(AIESXH])*0.3%
1,400,000,000& *0.3% 4,200
206 M= Hl 20,700 0 20,700
01 T2l 20,700 0 20,700
OMEEE 258 A4 7Y
1,800& *3,000kg 5,400
OHEAIE =2cl=0t +& 15,0003 *600& 9,000
OHEZS A (28E) 7
85,000& 604 5,100
OSctAE Yy E F2¢ 60,000& 204 1,200
401 Al HI YL 2 T 583,190 0 583, 190
01 A& HI 583,190 0 583,190
OZITHEES JIAHSEEANE EXNAL 583,190
405 TtHabF S| 100,000 0 100,000
01 AL EFSFHSHI 100,000 0 100,000
OHEAE &3 XIAX(LE)
100,000, 0002 »1CH 100,000
e =249 668,139 790,657 N 122,518




2 A
& Clean &€& =4

©9 HII2 HelAld 29 e (298 R)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
101 2124 4| 103,609 446,332 N342,723
04 JIZtHI22 NS E S 103,609 446,332 N342,723
OWAINEHE F002ZAI& o182 45,070
gy 60,2403 x2H »246 29,639
ERY 7,530 x4 Al 2+ 1 . 5%x2H x52L 4,699
==l 60,240& x2H x52 6,265
AEE = 40,601,760& *11% 4,467
OAMEE 29 L Hx= o2 14,458
oGt 60,2403 x2H 120 14,458
OUEHIIS LI =Y o2 44,081
oAt 66,6303 x2H 246 32,782
Ra3ELY 66,630 x22 52 6,930
C4EEE 39,711,480& *11% 4,369
201 Bt 106,530 108,525 A 1,995
01 At 22l bl 49,590 48,390 1,200
O& =&+ =& Z Al
330,000& x12&|+330, 000& x4 3| 44 A~ 9,240
OZANE =Z 2 AtH| 3,100,000& x4 3] 12,400
OAMMEE FOAXNFEAM S XS
70,000& *15H 53] 5,250
OAMIMEHE WM EJjetd2e ==
300,000& x12& 3,600
OAMNESE MHEHE SX 4| 1,375,000& *4 4 A 5,500
Ofgdesd A2l 10,000
OUAINEH ®I|otdE2e U2
200,000& 1200 & 2,400
OUAINE & FolAH| 100,000& *12& 1,200
02 33249l 56,940 60,135 N 3,195
OA & &Hl S XYl 18,000
OUHEHII S WAMAIE EIQRIDI22+AI22
) 38,940
ez 400kW*7 470 =122 *68% 24,383
ANES 198.8kWx74 413 x4hr 246 14,557
206 M = Hl 41,000 44,600 A 3,600
01 & bl 41,000 44,600 A 3,600
Olg & gz 2 12,000
O E HeEs Be=HEI 7Y
13,000 * 1004 1,300
OHMIAIE S22 SE2LO0IEATL 5)
20,000& =100 2,000
O & AR (2R S) 224800 =&
800,000& *43| 3,200
ONgd AUz CHEMA 2
9,000 *2,500m 22,500
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g3 =4

£ XMelAd 29 2el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 417,000 190,000 227,000
01 Al&H| 414,858 188,758 226,100
OUAMIEE SETH EEALY
40,000,000 *98.92% 39,568
OHIISHelAlE EIIH A 14,000,000 » 1Al 14,000
OMg & &&FX EX0H
173,000,000 = 14! 173,000
Og & =80l XA
90,000,000 x99. 10% 89,190
OZAEMNEES HdEANYE FHOS ANSAL
100,000,000 *99. 10% 99,100
03 Al 20| 2,142 1,242 900
OUMMEHE =SEN SH2AY
40,000,000 *1.08% 432
Og & =802 XNEAY
90,000,000 x0.90% 810
OZAEMNMEES HdEANYE FHOS ANSAL
100,000,000 *0. 9% 900
HEAIE AX (LA HEER SAAY) 2,960,000 1,667,000 1,293,000
= 1,480,000
Al 1,480,000
401 AlEHIZL 2 0HY| 2,960,000 1,667,000 1,293,000
= 1,480,000
Al 1,480,000
01 Al&H| 2,949,344 1,659,499 1,289,845
OUMIEHE SEAMY
2,960,000, 0002 x99 .64% 2,949,344
= 1,480,000
Al 1,469,344
03 Al 20| 10,656 7,501 3,155
OUHAOHE & S A 2,960,000,000& *0 . 36% 10,656
EHAHES 148,000 117,000 31,000
= 12,858
o 7,782
Al 127,360
M=S= 0ol 148,000 117,000 31,000
= 12,858
o= 7,782
Al 127,360
OrMisS=2 Lol A 70,000 64,000 6,000
= 12,858
o=} 4,282
Al 52,860
402 SI2vXHE0| ™ 70,000 60,000 10,000
= 12,858
& 4,282

=
|




38
MEHHES
OFMES TS SREED
SN EB S (3H) - NBAY - B2 il 2
Al 52,860
02 DIZFXIE2AIE E X (0IETHE ) 70,000 60,000 10,000
OO0tM=ES= IIoH Olg A 1,250,000& *56 1 70,000
=2 12,858
& 4,282
Al 52,860
ME= 43,000 30,000 13,000
301 dEtE A= 43,000 30,000 13,000
11 IIEtE &2 43,000 30,000 13,000
OSBOIMES T8 SAS(UANALS)
(100,000 2000t 2l )+(50,000& 1000t 2 ) 25,000
OfdliotMss Ta BAS (DX H) 15,000
O0MEZ2 XU &3HI 3,000
MES I EAAL(EX) 35,000 23,000 12,000
< 3,500
Al 31,500
301 et A= 35,000 23,000 12,000
= 3,500
Al 31,500
11 JIEtE A2 35,000 23,000 12,000
OO0tMES=2 Lol BAaALY 35,000
= 3,500
Al 31,500
HMSAHAY (&E) ,684,016 3,612,477 71,539
ol yl(&#2 D) 659,476 3,592,677 66,799
ol | (&A1) ,659,476 3,592,677 66,799
101 @121l 3,659,476 3,592,677 66,799
03 I HL2E2 XNHE 3,659,476 3,592,677 66,799
Ogtd el (71% 15 0] 8t) 3,589,099
ez 1,307,340 *x71H x12& ,113,854
PIE =y 1,877,340& x71& x200% 266,583
dz24 1,877,340 «71H x90% 119,963
M & e d 1,877,340& x71& *250% 333,228
NESY (A 40,000& x55H x12& 26,400
NE=(IIEH 20,0003 x87H x12& 20,880
NELY(HEHEW) 60,000& «x31H x12& 22,320
IE =S (AE AT Ol AL
100,000& x21H x12& 25,200
ExQRG 90,000& 718 x12& 76,680
ARG 70,0003 «718 x12& 59,640
HHZAH| 160,000& x71H = 12& 136,320
JFAH 2 &b 110,000& *x71H x12& 93,720
wWE B X 140,000& x71¥ x12& 119,280
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2M: 83
M HY2IZH (22 )
Srel: ol (2A D) (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Y EF O 1,877,340 71 x120% 159,950
ANZte 22+
8,307 «1.5+71H «10Al 2+ x 12 106, 164
o284
8,307 & +0.5+2A| 2t +71H 262 « 128 184,017
Fe224+y
66,4563 x1.5x718 «5 5 x12& 467,120
HirsSsit=¥ 66,4563 71«15 70,776
AEHSH (LSEM) 340,000& 30X »43| 40,800
SN BAIN
109, 334,000& « 1% +36,870,000& «1H 146,204
oXgs & Mgt ¢ 600,000& »71H 42,600
O HEE 3,472,089,930& *0.8% 27,777
Jl2dd(s&Z ) 24,540 19,800 4,740
Jl2dyi (&) 24,540 19,800 4,740
201 £B-2dH| 15,000 15,000 0
01 At 22l 15,000 15,000 0
O= &l 15,000
203 YR =&l 9,540 4,800 4,740
04 NI 9,540 4,800 4,740
ORNM2IALETY| 9,540
Heags(s2aun) 252,210 226,402 25,808
HEHHK S 252,210 226,402 25,808
3dE3 252,210 226,402 25,808
702 )I3HEES 252,210 226,402 25,808
(EPIE=RSE—t= 252,210 226,402 25,808
OHJISHelAlE =AXI2(XYIISE S
oo 3) 852,775,850 x10% 85,278
OHIIEMelAd =UXJAINS(HES) 150,000
OSMSHIISHAANE FANAIIS (SN2
THOHCHZ) 169,315,380& *10% 16,932




